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Section Id : 64065338325
Section Number : 8

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15

Number of Questions to be attempted : 15

Section Marks : 40

Display Number Panel : Yes

Group All Questions: No

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 64065380392
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 219 Question Id : 640653563932 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 0

Question Label : Multiple Choice Question

THIS IS QUESTION PAPER FOR THE SUBJECT "DIPLOMA LEVEL : BUSINESS DATA MANAGEMENT
(COMPUTER BASED EXAM)"

ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT?
CROSS CHECK YOUR HALL TICKET TO CONFIRM THE SUBJECTS TO BE WRITTEN.

(IF IT IS NOT THE CORRECT SUBJECT, PLS CHECK THE SECTION AT THE TOP FOR THE SUBJECTS



REGISTERED BY YOU)

Options:
6406531885137. ¥ YES

6406531885138. # NO

Sub-Section Number : 2
Sub-Section Id : 64065380393
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 220 Question Id : 640653563933 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

When does marginal utility become negative?

Options :

6406531885139. # When a consumer consumes the first unit of a good
6406531885140. * When the total utility of a good is zero.
6406531885141. * When the total utility of a good is at its maximum.

6406531885142. ¥ When the consumer reaches the point of overconsumption.

Question Number : 221 Question Id : 640653563935 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

The current ratio is a measure of:

Options :



6406531885147. ¥ A company's ability to pay its long-term debt obligations.
6406531885148. ¥ A company's liquidity and short-term solvency.
6406531885149. # A company's ability to generate profits.

6406531885150. # A company's efficiency in managing its inventory.

Question Number : 222 Question Id : 640653563936 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

A Company has current assets of $500,000 and current liabilities of $250,000. What is the current

ratio of the company?

Options :
6406531885151, ¢ 2
6406531885152, # 0.5
6406531885153, # 1

6406531885154. # 1.5

Question Number : 223 Question Id : 640653563937 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 2

Question Label : Multiple Choice Question

Match the following



1 Pricing Decisions A Process that integrates vanous business
processes, functions, and departments within an
organisation into a single system

2 Production Function B Measure if manufacturing efficiency that
calculates the percentage of actual productive
manufacturing time, as compared to the planned
production time

3 Enterprise Resource Planning System C Choices Businesses makes when setting prices
for their products or services

4 Overall Equipment Effectivenass D Relationship hetween inputs (such as labour and
capital) and output (such as the quantity of goods
or services produced)

Options :

6406531885155. # 1-A, 2-B, 3-C, 4-D
6406531885156. ¥ 1-C, 2-D, 3-A, 4-B
6406531885157. # 1-B, 2-C, 3-D, 4-A

6406531885158. # 1-D, 2-A, 3-B, 4-C

Question Number : 224 Question Id : 640653563938 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

What do regional tables signify?

Options :

6406531885159. # It tells which region brought the most revenue and volume sales.
6406531885160. # It tells which production unit gave the highest revenue and volume sales.
6406531885161. # It organizes data based on geographic regions and areas.

6406531885162. ¢ Both It tells which region brought the most revenue and volume sales & It

organizes data based on geographic regions and areas.

Question Number : 225 Question Id : 640653563940 Question Type : MCQ Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

Which of the SKU should be placed closer to the processing center?

= A B
g
@ "
17 L
Volume
Options:

6406531885167. # A
6406531885168. ¥ B
6406531885169. * C

6406531885170. * D

Question Number : 226 Question Id : 640653563949 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

Match the following



Ashmit who has not got his KYC done, applied for a

: credit of 120 rupees but got rejected. - Zoll
Beena has defaulted in paying her EMIs for 5 straight
2 months now, but is sad now that her Pay Later Option B Fraud Risk

isn't enabled

Chetan gets notified because his transaction amount
3 was too high and the location of this request was from C Credit Risk
some obsolete island near Caribbean

Divya who is just graduated from Std. 4B to Std. 5A in

School tried applying for credit but got rejected. B EOmRL

Options :

6406531885177. # 1-A, 2-B, 3-C, 4-D
6406531885178. ¢ 1-D, 2-C, 3-B, 4-A
6406531885179. # 1-B, 2-C, 3-D, 4-A

6406531885180. # 1-D, 2-A, 3-B, 4-C

Question Number : 227 Question Id : 640653563952 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

Suppose you have an Excel cell containing the following text string: "03/12/2022 14:36:00". Which
of the following formulas will return the date "03/12/2022" from this cell using the LEFT function?

Options :

6406531885189. # =LEFT(A1, 10)
6406531885190. ¥ =LEFT(A1, 8)
6406531885191. # =LEFT(A1, 5)

6406531885192. # =LEFT(A1, 7)

Sub-Section Number : 3
Sub-Section Id : 64065380394

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 228 Question Id : 640653563934 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 3

Question Label : Multiple Choice Question

If the price of a product increases by 10% and the quantity demanded decreases by 20%, what is

the price elasticity of demand?

Options :
6406531885143. + 2
6406531885144. # 0.5
6406531885145. # 1

6406531885146. # 1.5

Question Number : 229 Question Id : 640653563939 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 3

Question Label : Multiple Choice Question

Consider the dataset. Rank the candidates, and choose the option correctly. Here appraisal score,
duration in the current post, and count of skills are higher the better, whereas the joining

possibility is lower the better.



Candidates | Appraisal Score | Duration in the | Count of Skills | Joining Possible
current Post (in (in Months)
yrs)

A 2 3 3 1

B 3 3 3 1

C 2 4 2 2

D 1 2 2 2

Options :

6406531885163. #* D>C>B>A

6406531885164. * C>D>B>A

6406531885165. ¥ B>A>C>D

6406531885166. #* A>B>C>D

Question Number : 230 Question Id : 640653563950 Question Type : MCQ Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Correct Marks : 3

Question Label : Multiple Choice Question

Give the preference order in which the following people are most likely to get their credit request

approved
Customer Cust Application | Application
Name Engagement | Credit Score Amount
Alya Mid 444 100
Bobby Low 630 120
Catty Mid 500 210
Deepak High 613 100
Options :

6406531885181. ¥ Deepak > Bobby > Catty > Alya




6406531885182. # Alya > Deepak > Catty > Bobby
6406531885183. * Bobby > Catty > Alya > Deepak

6406531885184. # Deepak > Alya > Catty > Bobby

Question Number : 231 Question Id : 640653563951 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 3

Question Label : Multiple Choice Question

The following table provides the number of credit applications approved or declined in 4 months

in 2021

Month Approved Declined
July 500 488
August 488 474
September 520 516
October 660 650

Which Month has the highest approval rate?

Options :

6406531885185. # July
6406531885186. ¥ August
6406531885187. # September

6406531885188. # October

Sub-Section Number : 4
Sub-Section Id : 64065380395
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 640653563941 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (232 to 235)
Question Label : Comprehension

Calculate the given subquestions for Gear Hobbing Process for Week 1

Parameters Week 1
MNo. of Shifts/ Day (No Holiday on any day of the week) 3
No. of Hours/Shift 8

]

MNMumber of Shifts lost due to maintenance

Designed Speed of Hobbing Process (per hour) 60
Total Product Output 6200
Scrap (S) 422

Sub questions

Question Number : 232 Question Id : 640653563942 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 2

Question Label : Short Answer Question

Availability- %

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

/70to 73



Question Number : 233 Question Id : 640653563943 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 2

Question Label : Short Answer Question

Performance %

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

85to 87

Question Number : 234 Question Id : 640653563944 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2

Question Label : Short Answer Question

Quality . %

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

92.5t0 94

Question Number : 235 Question Id : 640653563945 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2



Question Label : Short Answer Question

OEE____ (Enter a number between 0 and 1 up to 3 decimal places)
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

0.560 to 0.583

Sub-Section Number : 5
Sub-Section Id : 64065380396
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 640653563946 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (236 to 237)
Question Label : Comprehension

Answer the given subquestions concerning the Hobbing process of gear manufacturing?

Shift | Shift | Shift | Shift | Shift | Shift | Shift | Shift | Shift | Shift

Week -1 Broaching 11 8 13 0 7 6 11 8 - 6
Scrap

Total Output of Gear Casts after Broaching: 2300

Cost of Broaching: INR 27 per Gear cast, Raw Material Cost: INR 43 per Gear Cast

Sub questions



Question Number : 236 Question Id : 640653563947 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 2
Question Label : Short Answer Question

Scrap Percentage after broaching process %

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

3.15t0 3.25

Question Number : 237 Question Id : 640653563948 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2
Question Label : Short Answer Question

Loss due to scrap after broaching

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5050 to 5300

System Commands

SectionId : 64065338326



